
55Ni Z = 28 N = 27 adopted link ENSDF link

Based on ENSDF from Oct 2022, and mass evaluation from 2020

BE = 467.353 ( 0.001) MeV

Qbeta+ = 8.694 ( 0.001) MeV

Energy T J+ J- J-other T1/2

-----------------------------------------------------------------------------------------------

55NI 1 | | 0.000 7/2-| 1 204.7 MS 37

55NI 2 | | | 2.089 2

55NI 3 | | | 2.462 3

55NI 4 | | | 2.839 4

55NI 5 | | | 2.882 (11/2-) 5

55NI 6 | | | 3.185 (1/2+) 6

55NI 7 | | | 3.502 7

55NI 8 | | | 3.583 (13/2-) 8

55NI 9 | | | 3.617 (15/2-) 9

55NI 10 | | | 3.752 (3/2+) 10

----------- -----------------

55NI 11 | | | 3.784 11

55NI 12 | | | 4.046 12

55NI 13 | | | 4.444 13

55NI 14 | | | 4.483 (17/2-) 14

S-p = 4.615 ( 0.001)----------------------------------------------------------------------

55NI 15 | | | 4.616 15

55NI 16 | | | 4.743 16

55NI 17 | | | 4.983 17

55NI 18 | | | 5.178 18

55NI 19 | | | 5.389 19

55NI 20 | | | 5.876 20

----------- -----------------

55NI 21 | | | 5.937 21

55NI 22 | | | 6.600 22

55NI 23 | | | 6.870 23

S-p = 4.615 ( 0.001)----------------------------------------------------------------------

S-n = 14.129 ( 0.005)----------------------------------------------------------------------

S-2p = 8.966 ( 0.002)----------------------------------------------------------------------

S-2n = 31.848 ( 0.025)----------------------------------------------------------------------

S-alpha= 7.572 ( 0.002)----------------------------------------------------------------------

S+p = -0.583 ( 0.006)

S+n = -16.643 ( 0.001)

S+2p = -1.814 ( 0.228)

S+2n = -26.891 ( 0.001)

S+alpha = -4.305 ( 0.001)
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gap p = 4.032 ( 0.006)

gap n = -2.514 ( 0.005)

gap 2p = 7.152 ( 0.228)

gap 2n = 4.957 ( 0.025)

gap alpha = 3.267 ( 0.002)

2


